

# المفاتحة المرقمة

تجهيز مستشفى قلعة سكر في دائرة صحة ذي قار

57-2025-34

الشركات المشاركة :

١- مكتب اجياد سومر العلمي

NO.	Description	Model Manufacture Origin	Unit Price	QTY.	Amount (USD)
1	ECG Electrocardiography	200S Cardioline Italy	2500	6	15000
2	Radiographic unit, mobile	32 KW Corsix R Italray Italy	41700	1	41700
3	Computed Radiography CR, single film with dry film printer(kodak)	Fire spark Digiray Korea	12000	1	12000
4	Radiographic system, conventional With voltage stabilizer	65 KW Endeavour 60 BMI Italy	45000	1	45000
5	Ventilator	Advance TECME USA	28300	5	141500
6	Anesthesia	Astra 3i OES Medical UK	36300	2	72600
7	Infant resuscitator With O2 Plender	KR-1000 NOVOS Turkey	5750	2	11500
8	Ultrasonic, general purpose with 2 probes & UPS 2KV Online, printer	H30 Samsung Korea	57200	1	57200
9	Infant incubator with servo controller & UPS	KI-1000 NOVOS Turkey	13700	4	54800
10	Hot air oven with 2 shelves	EN055 Nuve Turkey	3100	2	6200
11	Basic patient monitor 12" (adult, pediatric) (SPO2, NIBP, TEMP., RES., PR, ECG) wall mounted	BT-770 Bistos Korea	4400	10	44000
12	Infusion pump, large volume	A717V Codan Switzerland	1600	6	9600
13	Suction unit	H-50 Hersill Spain	2950	10	29500
14	Defibrillator monitor SPO2, NIBP & Cart 200 pcs disposable electrode	Reanibex 700 Bexen Spain	12750	6	76500
15	Spectrophotometer /visible	PD-303 APEL Japan	2750	1	2750
16	Ultrasonic nebulizer	RespirAir Flaem Italy	150	6	900

NO.	Description	Model Manufacture Origin	Unit Price	QTY	Amount (USD)
17	Infusion pump, syringe	A616S Codan Switzerland	1600	6	9600
18	Warming unit (blood solution)	BW 685S Beigler Austria	3950	6	23700
19	Phototherapy crib (cylindrical)	Bilisphere 360 led NOVOS Turkey	9800	2	19600
20	Fetal heart detector (portable) with charger & additional probe	FD2 HUNTLIGHT UK	980	2	1960
21	Blood gas analyzer with internal battery	I-Smart 300 I-Sens Korea	11450	1	11450
22	Operating table	Ouk-02 Medin Belarus	35600	2	71200
23	Dual Ceiling light surgical with video camera	V 560 Emaled Germany	25900	2	51800
24	Light surgical, stand alone, mobile	500M Emaled Germany	7850	4	31400
25	Electrosurgical unit with trolley	400HP LED Italy	8825	1	8825
26	Water distillation device	ND12 Nuve Turkey	1000	2	2000
27	Coagulation analyzer (semi-automated) with printer	Humaclot Junior Human Germany	2200	1	2200
28	Autoclave 23 L	Kronos 23L Newmed Italy	6900	3	20700
29	Elisa system	Huma reader HS&Comi wash H Human Germany	19600	1	19600
30	Clinical chemistry analyzers-bench top	Indiko Thermo fisher Feland	30725	1	30725
31	Bilirubinometer	B111 Erma Japan	4350	2	8700
32	Roller mixer	Humaroll Human Germany	1000	1	1000

NO.	Description	Model Manufacture Origin	Unit Price	QTY.	Amount (USD)
33	Centrifuge low speed	NF200 Nuve Turkey	1500	3	4500
34	Microcentrifuge	NF 048 Nuve Turkey	2550	2	5100
35	Microscope	B-192 OPTIKA ITLAY	2250	2	4500
36	Water bath with lid	NB20 Nuve Turkey	2000	2	4000
37	Incubator lab.	IF160 Memmert Germany	6900	2	13800
38	Complete laparoscope unit	Storz Germany	120000	1	120000
39	Hematology analyzer 3Diff.	Spincell3 Spinreact Spain	6700	1	6700
40	Steam sterilizer 60L	Tiche 60 Newmed Italy	17400	3	52200
Total Price (USD)			1,146,010 \$		

medi trading -۲

**Summary:**

Summary of the offer				
No.	Items	QTY	Unit Price	Total Price
1	Ventilator	5	\$27,000.00	\$135,000.00
2	Anesthesia machine	2	\$37,000.00	\$74,000.00
3	Ultrasonic, General Purpose	1	\$30,000.00	\$30,000.00
	Optional Probe		\$5,250.00	Optional
	Optional Probe		\$11,400.00	Optional
4	Operation table, general surgery	2	\$36,000.00	\$72,000.00
5	Lights, surgical, ceiling mounted	2	\$25,000.00	\$50,000.00
6	Lights, Surgical, Stand-Alone, Mobile	4	\$7,900.00	\$31,600.00
			<b>Total</b>	<b>\$392,600.00</b>
Three Hundred Ninety-Two Thousand Six Hundred Dollars Only.				

**3. Price Schedule for Goods to be Imported from Abroad**

1 Schedule No. (a)	2 Item No. (b)	3 Brief Description of Goods	4 Quantity offered and physical unit	5 Country of Origin	6 Unit Price [Bidder may insert permissible Currency]			7 Total price on DDP at End-users' site along with incidental series 3X5 (D)
					CIP Price / End User (A)	DDP Price / End User (B)	Emergency services as stated in requirement schedule (C)	
							DDP Price / End Users with emergency services (B+C=D)	
1	5	Ventilator	5	Sweden	26,410	Not Applicable	Not Applicable	132,050
	8	Ultrasonic, General Purpose	1	Malaysia	56,435	Not Applicable	Not Applicable	56,435

11	Basic patient monitor( Adult, pediatric)	10	USA/Mexico	2,680	Not Applicable	Not Applicable	Not Applicable	26,800
21	Blood Gas Analyzer	1	GB	11,700	Not Applicable	Not Applicable	Not Applicable	11,700
27	Coagulation Analyzer (semi-auto)	1	GM	2,200	Not Applicable	Not Applicable	Not Applicable	2,200
29	ELISA analyzer	1	France	20,000	Not Applicable	Not Applicable	Not Applicable	20,000
30	Semi Automated Clinical Chemistry Analyzer	1	Hungary	35,500	Not Applicable	Not Applicable	Not Applicable	35,500
39	Hematology Analyzer 3 parts	1	Hungary	6,800	Not Applicable	Not Applicable	Not Applicable	6,800

Amount of "291,485.00 USD"  
 Two Hundred Ninety-One Thousand Four Hundred Eighty-Five USD

... as per INCOTERMS® current edition **Not Applicable**

1		2				3	4	5				6	
رقم ال م ر ق م	وصف موجز (الاصحوة العلية)	المنتج	البرق +	مقابل اس استقر الكوية	مجم وحدة العتبة	الكمية المقدمة والوحدة	بلد المصدر	سعر الوحدة بالدينار العراقي زائما وكثافة				السعر الإجمالي (رقم وكود) (DDP) توصيل المجال من مكان الاستخدام النهائي (والدينار العراقي) (٢٠٢٢)	
								(a)	(b)	(c)	(d)		
11	Basic patient monitor (Adult, pediatric)		-	-	-	10	العراق	١٠,٨٩٠,٠٠٠ د.ع.	١٦٠,٠٠٠ د.ع.	١٤٠,٠٠٠ د.ع.	٥٠,٠٠٠ د.ع.	٥,١٥٠,٠٠٠ د.ع.	٥١,٥٠٠,٠٠٠ د.ع.
25	Electrosurgical Unit		-	-	-	1	العراق	١٠,٨٩٠,٠٠٠ د.ع.	٣٦٠,٠٠٠ د.ع.	٤٦٠,٠٠٠ د.ع.	١٧٠,٠٠٠ د.ع.	١١,٨٨٠,٠٠٠ د.ع.	١١,٨٨٠,٠٠٠ د.ع.

المجموع الإجمالي للعتاد بالدينار العراقي ( ٦٣,٢٨٠,٠٠٠ د.ع )

ثلاثة وستون مليون وثلاثمائة وثمانون ألفاً

مئة التسليم : ٦٠ يوم (DDP) من مجالس كيهوذا

الاسم والمسمى : اسم الجهاز / كود / تاريخ

١